3R Uaer 3iefleRel Aar T¥el 3T, TRIASH
URfds 3Ear wder (PET)-2022
AT TR Qﬁﬁ (Master Set)

e T qTel

15.10.2022

rferiaa W @ fora g & afel o1 waeft o) sgein fear o ?
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In which of the following age copper was first used ?
Chalcolithic Age
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Fereferfad # & fora v vt wem sig Sty 1 sTreer R mm o ¢
TR

The first Buddhist Council was held at which among the following places ?
Rajgir

FraferRaa o @ 6 a8 =it R Rimes am Sammfta fredt’ off or 2
e wwe e

Who among the following is the person whose name was also ‘Devanampiya Piyadassi’ ?
Mauryan Emperor Ashoka

GO ot e s (Rem-qu) o Ofi geer Y srer w1 wm o T T SEd A
g3l |

TG
The pietra dura or coloured stone inlay work on marble became very popular in the days of

Shahjahan

e g 3T Syt Y ITeT g%, q Wit W Smfifaa # @ R wmam O 7
T §H1E

When the East India Company was established, India was ruled by whom among the
following ?
A Mughal Emperor

G-I aTgrer Frferfad § @ fereres gr e e e o 7
foria wma

The Bhoodan-Gramdan movement had been started by whom among the following ?
~ Vinoba Bhave

ﬁww%m,ﬁmﬁﬁmmmﬁmﬁsﬂaﬁaﬁﬁﬁww
ek Hiftra 1 @ o5 foru Tt fomar o 7
HHCICH! TSI

During the Dandi Salt March, which among the following social activist had persuaded
Gandhiji not to restrict the protests to men alone ?
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Kamaladevi Chattopadhyay

TgATG <l gelt WE mﬁaﬁsﬁw&ﬁaﬁﬁﬁmmﬁr%mgﬁ‘ ?
Full Marks
The first clear expression of nationalism came with which among the following revolutions

l’
ot i

TR o Feferiaa o @ fore stfrfem o o sfed & Risr wia w1 fmfor gar 7
W TR Hfhfem, 1935

Which among the following Acts of the Government led to the creation of the Sind Province
from Bombay ?

Government of India Act, 1935

10.

g 3@ &1 T el fewelt’ fope femm o ¢
A =g 91

Who gave the famous battle cry ‘Chalo Dilli* ?
Subhash Chandra Bose

11.

Torvg ot Tt St =1¢1 AIEe Taw e fRme
FuTer IR fosma

Mount Everest — the highest peak in the world is located between
Nepal & Tibet

12.

fererferfea o & wia § “srerge B i 51 e wrRo R R 7
I AT A Sl I A

Which among the following is the main reason for “October heat” in India ?
High temperature associated with high humidity

13.

YR AT T e a1e Tud (GMT) & MR |
51
2
Indian Standard Time is ahead of Greenwich Mean Time (GMT) by

5—1- hours
2

14.

ﬁw%ﬁgaﬁéﬂqmmﬁﬁmaﬁwﬁawmaﬂﬁhmqﬁ% ?
It <t JueTsErar

Which of the following is not the economic factor for influencing the population distribution
?

Availability of water

15.

Frefeiaa & @ forg ) =) “fomr &1 e’ Ser e ?
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Which of the following rivers is known as the ‘Sorrow of Bihar’ ?
Kosi

16.

IR h vrerarfier ArerTat w aifow wfiepfa Freferfaa o @ froes gro & o ¢
i ferenre aitwg

The final approval to the five year plans of India was given by whom among the following ?
National Development Council

17.

foped) oft Terpromfier sreferaem & gifies =won |, stResrer nfefaReaT &7 9 geftra
A E |
wrefires

At the initial stages of any developing economy, the majority of activities belong to the
sector.
Primary

18.

fereferea # & 1w gt it 6t o o1 e e 2
ug i

Which among the following was a part of the green revolution strategy ?
All of these

19.

ferforfiga © & % weh anforfores o T2 8 7
et

‘Which of the following is not a Commercial Bank ?
SIDBI

20.

ferferfiaa o & 6 a1 reiies &1 T IUsHH TG o dad Ueh [oRIN shi uTiid shieh wtfu feman
TR 7

Qs Frm

Which one of the following public sector undertaking is established by passing a special law
under Parliament ?

Statutory Corporation

21.

WA 61 TE FHriwel § frefafaa # 4 s e @i g€ 7
Tt % et

In the Union Executive of India, who among following is not included ?
The Chief Minister of States
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22.

% T8 Hifereh AT B ] HE hY s B |
s AR 3R I AR

has/have the power to implement the Fundamental Right.
The Supreme Court and High Courts

23.

I H, TPR AraTiees R e Frerferad o € frg wamerm & sl R 2
g AT

In India, The National Human Rights Commission is under which of the following ministry ?
Ministry of Home Affairs

24,

TtierRera o @ fepdt fereft b wfra wrewr & S = wenfira et 1 TR R 2

H¥]

Who among the following has the right to set up a High Court in any Union Territory ?
Parliament

25,

Frfafiaa 14 @ =7 a1 s=8q wid wfeum o et =mamer 6 @i st eI FaR g R ?
Which of the following article is about Establishment and constitution of Supreme Court in
Indian Constitution ?

124

26.

i &1 U1 Fraferfaa 4 @ frg Pt 2 2
3G AIHH

The colours of the stars depends upon which of the following ?
Its temperature

27.

Freaferia 7 @ i & i wetret T 3 7T Rrear @ 7
MERy g

Which among the following gases is responsible for global warming ?
Greenhouse Gas

28.

=i A ¥R % frefefaa 3 @ fora 3im ) wwifa s @ 2
%S

Pneumonia affects which of the following part of human body ?
Lungs

29.

Freferfea o @ v a1 st W i R 2
EIL I

Which among the following is not a plant fibre ?
Nylon

30.

urey shifrent ey frferfiea & @ fred st @l 2 2
et

Plant cell wall is made up of what among the following ?
Cellulose

31.

(5.21 x 6.32) -2.9272 =
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30

32.

(0.05)*+ (0.41)2+ (0.073)? _
(0.005)* + (0.041)2+ (0.0073)2
100

33.

40% SR FHTEIR-T X "ga & 31 50% =6 TH=R-13 Y U § | 10% sahe Qi qaremn-
T UGd & | foha oafes St 3 & s auem e v 8 7
40% persons read newspaper X and 50% persons read newspaper Y. 10% persons read both

newspapers. How many persons do not read any of the newspapers ?
20%

34,

5 afturi 1 37Ed 46 8 3 dgel W1 1 45 R | ieEr GO R -

The average of 5 results is 46 and that of the first four is 45. The fifth result is
50

35.

V29.8116 ++/7744 =
14.26

36.

‘wEf’ wreg w1 wdt Wiy R o |
qgr + iy

37.

fopwr ferehe & wree - i1 aref- g welt e @ 7
Faoie - dAferm IR - e

38.

Torg ferhe o @it vreg e wataar=h § 7
et Tgoft, warh

39.

fora forspea o ot faeim—m 8 ¢
G - GO

40.

TATE! YA U - FaTeR w1 37 R
FHEHE STl hl HeqT HET |

Read the passage carefully and answer the corresponding questions : (Q. 41 and 42)

Last week Caroline went on her first deep sea fishing trip off the coast of Catalina Island. She had
always enjoyed fishing when she was a child but had never gone fishing in the ocean. Her dad liked
to fish very often. Her big brother Jack was never the outdoor type, so her dad took her out often.
One of his favourite spots was Lake Isabella, which was about two hours from their home. She
recalls how she and her dad would spend a long, leisurely day driving to the lake, and then taking
his small boat out on the water. It was quiet and peaceful for the most part. Those memories remain
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some of her most cherished moments of her life. Caroline has a friend called Robert. On this day,
Robert invited Caroline to join him on his company’s fishing trip. Robert said it wouldn’t cost much
but would be a lot of fun. He knew Caroline enjoyed lake fishing and figured she would have a
great time. “Okay”, said Caroline, and to the ocean they went.

The first thing Caroline noticed, however, was the motion. “Wow, this boat really rocks”, Caroline told
Robert. “Don’t worry about it. You will get used to it”, he said. The trip to the waters off Catalina Island
took about an hour. Caroline marvelled at how quickly she lost sight of the mainland. It was a bit scary
when she thought about how alone they were in this great ocean. Soon, it was time to collect squid for
bait. The small boat stopped in the water and the crew turned the bright light into the ocean fo attract
the squid. Before long, thousands of squid rose to the surface and were collected for bait. After about
an hour, Caroline didn’t feel the rocking motion anymore. They were ready to fish. Caroline caught her
first ocean trout. It was a beautiful day.

41. Was Caroline’s brother an outdoor type ?
No

42. Why were the squids collected ?
For baiting

43. Give synonym for the word : “Partial”

Incomplete

44.  Choose the correct antonym : “Disappoint”
Satisfy

45. Give one word substitute for —
“The practice of writing, editing and /or compiling dictionaries”

Lexicography

46. T AfEE hI IR AR F §T, T 3 e, “o7 W I 3 ey b sHed TaH T Ihed
S & 1" afgen fetw & Ry yor gefa & ¢

et

Pointing to a woman, Nilesh said, “She is the only daughter of my wife’s grandfather’s only
child.” How is the woman related to Nilesh ?

Wife

47, STETT I R /Find odd one out :
8,27, 64, 100, 125, 216, 343

100
48. 1 Salt, 2006 % @R o7 | 1 S, 2010 %Y THTE 1B @1 e o 7

BIET 8
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It was Sunday on Jan. 1, 2006. What was the day of the week on Jan. 1, 2010 ?
Friday

49.  Freferiea s & whem Ty e § 3 1 el & w1g s fiobel Tu R | Fe] 1 O 3 R
maﬁ%ﬁqmﬁwﬁﬁﬁﬂwwﬁwﬁwmﬁmmﬁﬁmmﬁmﬁqwm
1 dTfcheh ®U A IELN HLT 2 |
%Y : Tt foharel TR § | $ IR I € | F e Felst E |
s
I %o fehae & |
. %9 Hestinwe |
. Fo fhae sHa & |
IV. %o fham efet # |
78 @ HI§ el
In the following question statements are given and these statements are followed by
conclusions. Read the conclusions and then decide which of the given conclusions logically
follows the given statements, disregarding commonly known facts.
Statements : All the books are papers. Some papers are Jjournals. Some journals are calendars.
Conclusions:
I.  Some journals are books.
I.  Some calendars are papers.
III.  Some books are journals.
IV.  Some books are calendars.
None of these
50. 3fe NORMAL %! RPNLBM % &Y 1 sifeq fhar sman &, a1 GATHER 1 IS 1 87T ?
If NORMAL is coded as RPNLBM, then what is the code fqr GATHER ?
TBGRFH
51. et 3 & form Sur o Aol 3 vgen m yor daw R & 7
L
Which among the following country’s scientists have prepared first synthetic embryos ?
Israel
52. SuTEE g U 3 FrefeRga o @ fvg Tsa 1 1IBX (3Fea Seiere e waasls) i R
27
TeIId
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Prime Minister Narendra Modi has launched the IIBX (India International Bullion Exchange)
in which among the following states ?

Gujarat

53. fferRaa & & forg 2w 2 s, 2022 ¥ T o STTHUTE U1 37 Ao I G 78T I I
fomam ?
ic]

Which among the following countries conducted its largest-ever military exercises around
Taiwan in August, 2022 ?

China

54. 3IFTE, 2022 ¥, Wi 6t umef TSR Ag) o1 IguTeA Fraferfia § & e wrge & fpar 7/ o7 2
EA e

In August, 2022, India’s first underwater metro was inaugurated in which of the following
cities ?
Kolkata

55. W B A S, 2022 & AT Ueh IS R SUIE 9 311G 1 e
femam o | - -

EhIFeTRe

The Indian Army had conducted a pan-India satellite communication exercise
named in July, 2022,

Skylight

56. R o foh 3t =l & offr “Irehrer vt <! uBel IS 1 IguTeH REaT T 7
S A IFAEETE
First flight of “Akasa Air” had been inaugurated between which two cities in India ?
Mumbai to Ahmedabad

57. IS 1 3T TElcHd % dad ‘9 Jel’ St et 3 @ e e waer gro we e
TR 7 .
‘Badhe Chalo’ campaign under Azadi ka Amrit Mahotsay has been launched by which among
the following Central Ministry ?
Ministry of Culture

58, Fwfcifie 4 & fom 1T 3 el s senfihl w1 o we % forg ‘Al4Bharat # =fielehvft &g’
i BT HI R ?
T "g/&
Which among the following IIT has launched the ‘Nilekani Centre at Al4Bharat’ to advance
Indian language technology ?

MASTER 9 04
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IIT Madras |
59.  fopar bl it <t srereran & <G # eheh ganat 1 a3 T e W wh T8 aRee
TR femerm T 2
fira wg
A National Conference on Drug Trafficking and National Security was held at Chandigarh
under the chairmanship of which Union Minister ?
Amit Shah
60. frferiiea # @ |1 TSy Ra # ugen TR ST’ S TS o T R 7
licH]
Which among the following states became the first ‘Har Ghar Jal’ certified state in India ?
Goa '
61. fr=ferad & & i wa w1 SR WA R 7
CRAS
Which among the following is not a neighbouring country of India ?
U.A.E.
62. Fefafgad s Ao gmang ¢
What among the following is the national currency of Hungary ?
Hungarian Forint
63. TSI % WG HINT oh MU G S WRA 3 Taot s b1 71 75T |
Y wew
Name the first state in India formed after independence on the basis of language.
Andhra Pradesh
64. 1k T T UG TRV i hl 2 T R |
2594
is the minimum age for holding office in the Lok Sabha.
25 years
04 10 MASTER
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65. Iausia Sa ferfererar feaw fora arli@ 1 v srar g 7
2275

International Day for Biological Diversity is celebrated on which date ?
22 May

66. Preffeadd o R Fr ot aer @ dug ?
ATt g

Which among the following is the largest river island in the world ?
Majuli Island

67. Heh Frefafaa A fra T eis e ?
S S

Nautanki is a folk dance of which among the following states ?
Uttar Pradesh

68. I=RIER seifmres afife s qeme ag |
O

The headquarters of International Olympic Committee is at

Switzerland

69. Tomertian 3 et g G T T @ FeE ol @ ¢
@it e

Who among the following wrote famous book ‘Powers of the Mind’ ?

Swami Vivekananda

70. UNFCCC %1 31 frefefaq d d sn @ 2
ATEES A ThHeeh By A FeTgae ol
UNFCCC stands for what among the following ?

United Nations Framework Convention on Climate Change

FrafeRea sg=ds @) ey TgeHt U8 1 Wl (7. 71 @ 75) % Iar R |

1 TR % wfa e o & arfcr a1 s § | anfycr gl aus 1 e =t 8, 981 98
oS | yifer oft gar 8 | =i T o T S ot o e @ | Enfeed O € g 31 Tiiesent
sfoe® %t TR rerdt 8 | wcdish g o wnfacr 3ran g o wikiefier feremt gro foreht 7 foneft w3
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3Ty grTTerd Bia 3 | wnfeer g diqger va R gt aitc s o faran =5 qe s 2 |l
4 & Terelt Ty w1 sfoera, i, wepfar offt T, wwl o geel % fomml v smET, wh G-
framsii, @ -ae 3t wustt 3nfe ) Seprt sre gt @ | forw arer 1 2w 3 e wm & 9 ot
et st oY, 3@ goer <l A R oft, g har o, g 3 it fEm 4 9, qe ue
GO 34 G & AIE 3T A T Bl € |

rfee Gt o1 2T R - SHE St 7€ @ o wnfecs @ w51 7 et o g e @, sifig
THTS o S a8 31 g frate oft e @ | T i et e, sworsesar, P 39 s
Al < gl i Wifee o o arieasf w9 # TR gwe o @ | & aifee Y anfeera @ dla
INYfreh el ek Wera TR Tl et g dehTeli wur < aitRfr, farem o e w6 gl
ST T il 2 | 9 oft Wit R b afe anfees e # Saer e w6t <o g, o i 9 afteen
wurst <6t fermfort o fagarmatt vt e @i e 3it 38 anfar foen ava & & fore oft weremsfier T
TEd1 | TS % Wi ifecreh i w1 gt AT o6 =R T, IeHiE 9 hasTey S fowm o snfe R |
ST Tl § et AT Th o TR oh TaT Tierret wut T8 & f wurer 6t &an st semurenid
9 @G ATl GRI Tdd i & Gediiecd sl i sy O 78 gear 2 | anfeca o 98 wiite & S dlg @en
aererl o oft & Bt |

71. e 31 g 1 e FoRE SR O T B 7
TS ! ETH FTH

72. wEfeca g fora ag & quef difest i et 2 2 ¢

T T §TET, TREAT, Weepfol-HwraT, ool % Forem, Agaam i il arfeer gr €
S ST Eehd € |

73.  WITEcT Shelel THIS 1 gUvT I TE & 7

T e grr T o frgamait 3 et vt wem e 3 gan e 6 SR
Hromh R

74, SR eI <hT T e Sf witees o 8 wehar & 7
wifeey 3w

75. WifgersR guTet & Wi 319 I A aRguf e R ?

04 12 MASTER
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T wur 1 7ot ShfcrRiT G AT T HER Hial | I IUTE T Hioqarg Bl deq
Lkl

frafaflaa sgede &I SFYEs Tgeht I8 T W (3. 76 | 80) % IR AR |

T ST e wike R 31t wRe “RR el W Stet =en 1 dier” ], Fiven @8 ‘g ant’ 8,
fra} e <Y jomsw T R, Rrew g 6w N R € T | wE A R SR R | e
e, 9, T, 9 Terd -, I8d-9ad, Gid-1id, Eeld-ged TR HH HA §T I8 & Y 16
ST T - Frei figr forn st at e areor 8! | 8 gt & yevet ot - famamifon g
5ot & | gn aft 3 fore Fun & Rrg & | e ik st v ant R wher & s & @ of, <o i
ST T e 6 g R | P SR W e @ TR T o I Uehdl 8, 9cd 3 g i en sed
off et & | 510 b o A= IR | oer-vet | A 3 36 o3 B @ | Afeh wet % T o o 59
38 FEWE 2 | IGeh! Sherel SheqT Bl Y T Tkt 8 | &TUINTR <F g WTYEd € ol WIETchIL @rd Tal
BT | 37: 37d § g7 F I hY SrrervEhdr o) @ € Wi ] | g & e Ry % veet v | g
% W g TerTer ey g1 o 31ue Tl # ST arel Hehel ohi G A1 36eh A STt AT AT 98, 98 Ll
ST 3R 3§ | ST e T3 T A er W IE 3 e wedl,  l-hl-al WAl W@ I8 | Hohe
FEH 3T T Sgar & AfET RSl @ A # 36 g R wer i 38 qer @ 9 9rel 7 2, 9w
e 8 | ey S-S 17 AT T 8 FE-8 g S TEar Smar @ 3 He g gl i ¢ |

76. TaTg ! T o fEET % 9N WA T Tehel o THAT hE HTAT =AMMRY ?
Tehel i wra g it R o st g = e |

77. T 3R e & Tl @t 31y gR 9T & guE =l SR e g
116 T R Srfear o1 ant R e @ Iaar € @ 8 3R 38 9l W e e i
21

78. mmiﬁm—ﬁmﬁraﬁmﬁ%msﬂwmm%?
DR

79. T i “FRes” wree 1 Wi G foeiy vee T BN ® 7
FUTHIR

80. ©cg h! aerre hdl <hl T =R ?
HGTYelh Fal: R aed % AR T AR wga §U F9 Ul Hl HIETEHR e, |

W . 81 85 : FrrfeiRara arfersht 1 sremm o 3t 36 T smefa et & IS |
Q. Nos. 81 to 85 : Study the following table and answer the questions based on it.

Teu =t wiced Hoht & = (Trw v H)/
Expenditures of 2 Company (in Lakh Rupees) per annum over the given years
=Y % g / Item of Expenditure
LAY has ST 9T ST
L A / Salary o e ! W99 / Bonus - / { / Taxes
Fuel and Transport Interest on Loans
2011 300 100 2 13.4 85
2012 340 112 1.52 225 110
2013 524 105 2.84 31.6 75
MASTER 13 04
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2014 340 135 2.68 26.4 78

2015 450 152 2.96 39.4 88

81. 39 rafts % O oft B il e st <Y itea Tt Reaeh e o 2

* 26.66 @

What is the average amount of interest per year which the company had to pay during this
period ?

" 26.66 lakhs

82.

<1 TTE 3reIfey ok SR SOt G ST <Y T s <R et TR, 39 S1afy % QN ST oY T e
<61 et TR BT TR T wiowa & 2

The total amount of bonus paid by the company during the given period is approximately
what percent of total amount of salary paid during this period ?

0.6%

83.

2011 H 57 @t 7G1 W T =, 2015 ¥ ot 557 1 @HT e wfrwra o 7

Total expenditure on all these items in 2011 was approximately what percent of the total
expenditure in 2015 ?

68.33%

84.

T 2013 o S0 31 7] W 9 1 Fol =T R R 2
" 738.44 i@

What is the total expenditure of the company over these items during the year 2013 ?
* 738.44 Lakhs

85.

aeft ot o o =l R et s i wt ot % for St af wftare W gt s b ofi bt o
SHEST: THISAT 2l

The ratio between the total expenditure on Taxes for all the years and the total expenditure
on Fuel and Transport for all the years respectively is approximately

109 : 151

T H. 869 90 : T =ufh 3w fet o e v @i aft 10 Rt % Rore vt v i | arferent wr wo
3R I % IR Y < | (R % ST 250 (@ 89 % aw) i e § 7 v s @ 1)

Q. Nos. 86 to 90 : A person bought five cars in a day and put on rent for 10 days. Read the table
and answer the questions carefully. (Standing time for car is not taken as consideration.)

04
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sifefer awin gu s | 10 Rt 3 e et gt o e i @
HR BT HEA / Mileage of Car w1 led W / Average | 91 YH¥ / Total time taken to cover
amount of diesel used | the total distance which is covered
per day during 10 days
et / Alto 25 fep. it /=t / kn/litre 10 et / litres 50§12 / hours
e / Swift 22 fep. . /eft. / lam/litre 10 e / litres 556 / hours
foum / Tiago 30 o6 1. /&ft. / km/litre 12 <12/ litres 50 %12 / hours
et / Mini 20 fe.=ft. /=, / lam/litre 25 e / litres 80 %2 / hours
oo / Kwid 25 T 4. /=t / kmAlitre 20 e / litres 100 &2 / hours

86. 10 et % SR 3tfeet 3 feamit <R aitera Tifer <61 3tara == o ?

What was the ratio of the average speed of Alto and Tiago during 10 days ?
25:36

87.

et 3R faere Teu e, 10 fett 3 S sroeh aftera wifd Y v i @ - < 3 ann w
@2 | firer o e, 3 weh-gEt & e feig o 3 amn e # | Al g # 1 Rl % e )
gt 2300 foh.Hf1. &, @t et 3R ffers gr0 woh-gm B firer & g 31 viaed deh ugen i
T T T ST Tl BT |

0 &1
Alto and Kwid is travelling towards each other with speed same as their average speed during
the given 10 days. After meeting, they travel to each other’s starting point. If initially distance

between both cars is 2300 km, then find difference of time taken by Alto and Kwid to reach
their destination after meeting each other.

0 hour

88.

fow 10 et 3 <hom s firht grr seeht sitea i & 875 fooft. 6t am s # fore g wv =
fa w10 f&1 % Shom R fearwe g eeh aftaa ifer & 990 o it <6t amn et 3 forw 7o awy
Y I 1 HIT |

Find the ratio of the time taken by car Mini to travel 875 km with the average speed of it

during the given 10 days to the time taken by car Swift 10 travel 990 km with the average
speed of it during the given 10 days. ‘

56:99
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89. afe el i gra 10 ferl o o < 718 et gft, R A IR B shwe: 150 w0l 3 300 w0 # @4
Ul 8, A R A 3R B hi 3ftad 7ifer % == 1 it Jra HIf |
If the total distances covered by all the cars in 10 days is covered by car A and car B in 150

hours and 300 hours respectively, then find the difference between average speeds of car A
and B.

61 for.=Y. /aver / km/h

90. 10 T&i % <o feamit ik firft gro <6t 1 e gt o1 S1gaTa feRam o 7

What was the ratio of the total distance covered by Tiago and Mini during 10 days ?
18:25

e . 91 | 95 : f= T snei@ o1 31 oS 2001 ¥ 2006 96 B8 991 o G YH 9N i
Y3 § ot | it 89 31t s Bigd aret shHniE o g qutar 2 | (ad 2000 % 2 A 9t
IS HEAT HO T I 31 & 3 7 & o Slght T 2 1)

Q. Nos. 91 to 95 : Study the following line graph which gives the number of employees who joined
the company and left the company in the beginning of each year during six years, from 2001 to
2006. (There is no employee joined the company or left the company during the year 2000.)

2000 ¥ =wienfat it writes g = 5000
Tnitial strength of Employees in 2000 = 5000

E § 800 oo T00—ggp—760
2 600
gz 3
E 520 PP 550
5| 400 450 Eia plvivn
5 20020
z 0

2001 2002 2003 2004 2005 2006
@ / Yenrs
— st 3§ il g amer e 6 Hen
Number of employees who joined company

= B AT wETRl R dom

Number of employees who left company

91. 2003 % S hoft B I HE=TRET ht T o ;
The number of employees working in the company during 2003 was :
5000

92. ford o ¥ fUel o <l gere | it Bie ot e o T # wfawa gfe / st aifteman
27
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For which year, the percentage rise/fall in the number of employees who left the company
compared to the previous year is maximum ?
2002

93. 2002 ¥ 2003 T =TT Y T # T b wterre < gfg/wh g8 7
The strength of employees increased / decreased from 2002 to 2003 by approximately what
percent ?
1%
94, 2003 T S+l # HTH T STet HHETET h T, 2006 T HU H H HE AT HHATE 6 @

T T Tepa wierera off ?

The number of employees working in the company in 2003 was approximately what percent
of the number of employees working in the company in 2006 ?
96.15%

08§.

21 77 3rarfer o6 S foret oft ol o sheeft 3 wmftren €1 et smerErt ot = T @ e Bied
el et i rfreman we & AT fea @ 7
The ratio of the least number of employees who joined the company to the maximum number

of employees who left company in any of the years during the given period is
9/13

T H. 96 F 100 : T8 ITCIE T N ht IR 3G G e Tt o6 I 2 |
Q. Nos. 96 to 100 : Study the bar graph and answer the questions based on it.

forrer =l #F el g Reet @ wmER (ama #)

Production of Toys by company (in Lakhs) over the years

2

FeaTen (e o)
Production (in Lakhs)
3% T S -]
o i S o T e

2011 2012 2013 2014 2015 2016 2017 2018
o / Yenrs

96.

2013 ¥ 2014 7 RaeiFl % Iaares § wmam gfasrd Frrae fead) oft 7

What was the approximate percentage decline in the production of toys from 2013 to 2014 ?
20%

27

2015 3R 2016 1 3itea Ieare Feferfiaa § & foe ai o gw % 3ita Seare 3 fepet SR
o7 ?
2012 37X 2017

The average production of 2015 and 2016 was exactly equal to the average production of
which of the following pair of years ?
2012 and 2017

98.

2011 <61 geir 2018 ¥ Rerefti 3 Icaret & e sl g forart off 2
What was the approximate percentage increase in production of toys in 2018 compared to that
in2011?

137.5%
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99. firwe = hi ger & forw o Seare 1 wltrera gig wed afws o 7

In which year the percentage increase in production was maximum as compared to the
previous year ?
2017

100. few e fopem ot & Raci o1 Seuren fu e ani 3 afteq scare O a1fre o7 7

In how many of the given years was the production of toys more than the average production
of the given years ?

4

3

( faerr= STRIGATS )
e A
il a1 T A
T
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